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MID TERM EXAMINATION
CLASS: XII
SUBJECT: CHEMISTRY.

TIME : 3 HRS. M.M. 70
General Instructions :

i) Al questions are compulsory.

ii)  Questions 1to 5 are very short answers questlons carries 1 mark each.

iii) Quesnons 6.to 10 are short answers questions cames 2 marks each.

iv) Quesnons 11 to 22 are short answers questions carries 3 marks each.

V) Quesrzons 23 is value based question carries 4 marks.

(vi) Question number 2410 26 are long answer questions of 5 marks each.
- fvii) Uselog tables, ifnecessary. Use of calculator is not permitted.
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What is meant by an intrinsic semiconductor ? 1
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5.  Why itis necessary to remove CO when ammonia is obtained by.
Haber’s process ? : 1
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- 6. Explainthe following terms | 2
a)  Peptisation
b)  Tyndall Effect
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a)  Give evidence that [CO(NH,);CI]SO, and [CO(NH,),SO,]CI are ionisation

isomers.
b)  Write formula for tetraquodichlorido Chromium (IIT) Chloride. 2
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Give reason for the following -

a)  First Ionisat?on energy of chromium is lower than that of Zn. _

b)  Copper docs r;of ;eplace ilydrogerlx fron_l acid. , 2
or

Define actinoid contraction. How does it differs fom lanthanoid contraction ?
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9. Define activation energy. How is it affected by (a) the catalyst (b) increase in
temperature ? , 2
wfpaer sorf 1 aRwfya $ifg |
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10. Explain the following with suitable example | 2
a)  Frenkel Defect
b)  Interstitial Defect
fFr=ifaRad usti @ wfaa Saever & g aaren #ifvg —

! .‘,f)
P. Bohd gy S
Q. a9y

11. An element with molar mass 27gmol " exists in cubic unit cell with edge length
405 pm. If its density is 2.7 gem, what is the nature of cubic unit cell? 3
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12.  Explain the following -

a)  Lyophilic sols are self stablizing.
b)  Zeolite is a shape selective catalyst.

¢)  Gasmark are safe in polluting air..
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a)  Helium is used in diving apparatus.
b)  Fluorine does not exhibit positive oxidation state.

c)  Oxygen shows less catenation property than sulphur.
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14. Calculate number of Faraday required is following changes. 3
a) 1molAl0O, |
b)  1molCuCl,
¢ 1molCr,0, toCr’”
. mqﬂaﬁﬁmﬁraﬁﬁgaaﬁmmm—
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@. 1 9a CuCl,
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¢) 2XeF,£H,0 _> Rzt 3FC,
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. NHgl,+NaNO,,,
@. P,+NaOH,,+H0 -

1. XeF,+H,0
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16. a) Calculate (spin only) the magnetic moment of metal in following

compounds. : 3
7

TR T gt ) - ii) NiSO,
‘b) Cr, Mo and W have high melting point as compared to other elements.

Give reason.

¢) Transition metals and there compound are usually coloured. Give

reason. :
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17. Carry out following conversioﬁ in not more that two steps. 3
a)  Propeneto _1—’Nitr0propane
W T e e
c) ~ Tolueneto Benzyl alcohol.
frefaRag Rad=t o) siftreaw <t ual ¥ guf #ifrg —
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18. a)  Write Chemical reactions involved in preparation of K,Cr,0, from Chromite

ore. L((( : % : B
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Cr,0, +H,S+H —

27
19. Explain according to valence bond theory that [CO(NH,),]’" is a inner orbital

comi)lex whereas [Ni(NH3)6]2+ is a outer orbital complex.] 3
WAISTHaT ey Rigid @ ek W R ST 5 [CONH,),]" ta
=1 yawvl Sad @ e f& [Ni(NH,) | S=a 595V 46 © |
20. Write principle involved in the following process :- ,_4 ; 2 /)f o d
a)  Electrolytic refining
| b)  Zone refining A~ L _ 2 06 2. .
i~ s Sl o 'y
| ¢)  Vapour phase refining 3P°%3d
or

a)  How is copper entracted from low grade copper ore.

b)  Name the method used for refining of titanium and write reaction involved (if -

any)

- ¢)  Zincacts as reducing agent in the extraction of Silver, comment.
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1. Conductivity of 2.5x10"* m methanoic acid (HCOOH) is 5.25x10” sem.
Calculate its molar conductivity and degree of dissociation.

If A’ =360scm’mol 'and 1’0 — =60scm’mol . 3

2.5x10 ' AAATEP 30l B FATAdaT 5.25x10° sem' 2 | HHelR ATAHAT
vd faare= a3 () B T S, afy 10, =360sem’mol TE

A’ ucoo—=60scm’mol " & |
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22. 200cm’ of an aqueous solution of a protein contains 1.26g of the protein. The

osmotic pressure of such a solution at 300k is found to be 2.57x10” bar. Calculate

the molar mass of the protein. Nz (At

2-57x16 3 = Ay gz OFS
V 3

[GivenR = 0.083 Lbarmol k'] -
UH WIEE @ 200cm’ Sl faera ¥ 1.26g WA 2 | 300k UR 39 faera &1

 UERYT €19 2.57x10° bar UHT AT | W & AR SAHH B IR
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[GivenR = 0.083 Lbarmol 'k ]

23. During experimental work in chemistry lab Mohan got a cut in his finger and started
bleeding. Ram bought a bottle of Potassium Chloride solution to stop bleeding his
Chemistry teacher suggested him to use Ferric Chloride solution. +

i)  Mention the reason for suggestion of Chemistry teacher to use Ferric Chloride

Solution.
ii)  Name the rule used to explain teachers suggestion.
iii) .Mention the value exhibited by teacher.
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24.  Write achemical test to distinguish between following pair of compounds.
a) (i)' VChloro benzene and chlorocyclohexane
(i) Chloroform and Carbon tetra chloride
b)  Explain following named reaction with suitable chemical reaction
(i) Sandmeyer reaction
(i)  wurtz fittig reaction
¢) Define racemic mixture.

or

Compound ‘A’ (C4H,N) on reaction with NaNO, and queous HCL at 0°C to 5°C
gives compound ‘B’ which an reaction with copper powder and HBr gives ‘C’

(CH;Br). ‘C’ on treatment with CH.CI in presence of Na metal gives ‘D’.

. Compound ‘D’ on reaction with acetic anhydride in presence on an hydrous AICI,

gives E & F. E is major product write formula of compound A to F and write

reaction involved in above changes.
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25. a)What will be the initial rate of reaction if its rate constant is 10°S™ and the

concentration of the reactant is 0.2 molL". What fraction of the reactant will be

converted in to the products in 200 second. S5
b)  Define- (<2
- :47 b ‘) 5 _» O )
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1.  Pseudo first order reaction
2.  Halflife period.
or

If the rate constant of a reaction is 2.0mol"LS™ at 700 K and 32mol 'Ls™ at 800 K,

What is the activation energy ? 5
b)  Define specific rate constant.

¢)  Write factors affecting rate of reaction.
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26. Give reason for the following :- 39S £ ST 3 |
: 2 .
a)  Basicity of H,PO, is two. o ' Sy
b)  H,0isliquid but H,S is gas.
c) Noble gaes have comparativefy larger atomic size in their respective pc?riod. &
d)  Draw structure of 4 : -"" _7? S
.t A i
I) xeo, 1) ICl, e -
or

a)  Arrange the following in the order of the property mentioned in increasing

order. 5
1) L, F,, Br,, Cl, (Bond enthalpy) |
ii) H,0, H,S, H,Te, H,Se (Reducing Power)
iii) PH,, NH,, SbH,, A,H, (Basic Sﬁength)
b)  Givereason for :
i) . O,is gaseous but all other elements of this group are solid.
i)  PCl,exist but NCl, does not.

frfefaa & fag sror g —
®. H,PO,®! &@Adr &1 sidl 2 |
9. HOTas WHSHHZ|

CHEM(MOR)XII il




1. ardyr Y 1 uxEaE AHR oI ©U § Aad A ST 'dr

L, F,, Br,, Cl, (3ra=er Y=eredl)
H,0, H,S, H,Te, H,Se (9d1d® &¥dT)

PH,, NH., SbH,, A H, (@4 wifa)
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